® =10 3 =11 @ =12 3 =13

@D -9



2. oA 2% -6x+4 =09 F FZa, gL D W, o +5° 27

D -9 Q -2 3 0 @ 5 ® 13



¥ = —24% - 4x— 6 9] HAGEE Ffel



o]i]'oL/\ Ty = 2x2 —6x+ 5(2 <x< 5)94
o, ab 9] & oHH?



5.

-2<x<3

Q]
=

o, 3x — 12] AT} X571

o
rlo



6. —x+523,2c-327 ol thote] AURS AL S Falola

SEE
c



HEAl 1< -2x+1<3 9 =2

D -2<x<2

@ —1<x<?2

@ —2<x<-1

G 1l<x<?2

@ -1<x<1



{

i
w4
[Nol ol N [anlan]
AN VI AL VI
8 8||w &

<6

l

r>6

z>1
<0

zu|




9. ol thet ol AHIAA ke +2(k+ 1+ k = 0°] T2 74 ] &

&

©)

N | —

1
O -5



10.

2K y=3x+2 4 ZEA y = x2 + mx+ 3 °] T HollA wtr] 9t
A m o H9IE oY

O m<-1,m>3 @ m<1l,m>5 ® -1<m<3

@ -1<m<5 ® 1<m<5



® 5 A 6 @ 7

A 4



A x5 +ax+b=09 3t 2ol 1+ V2L o, T} E F
<= FotH? (H, a, b= FE15)

D 1-+v2,2 @ -1+ +vV2,-3

®1-+v2,3
@ 1-+V2, -3 ® -1++vV2.3



mr

min
03
T
nm,o
!

—

@ a=1

x—ay=1

?

o
L

-1

= a gk

D a

°

<
<M
bl

el
+

==+1

® a

® 9t}



14.



15. thg olAHREA F 7t EAkA) gk 2

@D 2x2-6x+1<0 @ x*-2x-3<0
® x2-x+1>0 @ x2-6x4+9>0

B 4x2 —4x+1<0



0>~' +

b_O X% +2bx+3a=0%
o ab °] & Fotefzt,

Ao TSt x = -18

ol



=
nn

ax? +bx+c =094 bE ZF Ho}
A5 Hol -1, 49 F &2 49t ol o, 2

o] 27 4

A
-

17.

=
=

il c

telet.

S



18. oAty =x2 +bx+c E o, x = -1 oA 37k 3 & 7t o]
b+ c o] F2 Fatefet

B
=¥



teiet.

S

mel e 7

<k

2

.

ul



20.

AR A x3 —2x2 4 4x + 3 = 09 A
(1-a)(1-p)(1-7) 2 &L?

1.0
=

@D 2 @ 4 3 6 @ 8

a, B, vyt

® 10

o,



@ 9km/h ® 10km/h

@® 8km/h

® 12km/h

@ 11km/h



x+y=-3



23.

1o Jn

S

3

=

o >

x, yoll thako] a2 —dxy + 52 + 2x -8y +5 =02 W, x+y
?



24, oAFE y = x? - 2x—3 O] THII} )R y = 247 — 2mx+ 1 ]
Jefm B A ofgfF o] Ao S of= Ao m 9] ghe] Hel=?
® -3<m<3 @ -3m<1
® -1<m<3 @ m<-1F=Em>1

B m<-1EY2y,>3



25.

pil

rLE
olﬂ

2
A x*=bx+4<0
x2 = (k+3)x+3k>0

Fe k9] 2ol W9iE 72

|

0

O -1<k<l1 @ -1<k<3

@ k<1 ® —1<k<3

Ol 73 < x <4 7t HEE



